Trailer

Model No. 22979
Model No. 22979HD

Form No. 3432-587 Rev A

TRX Trencher or STX Stump Grinder

Setup Instructions

Safety

Read and understand the following before using the
trailer.

* Before every use:
— Inspect the coupler, ball, and hitch.
— Always use safety chains.
— Verify that all lights are functioning properly.

— Verify that the tires are properly inflated as
recommended on tires.

— Verify that the lug nuts are tight and torqued
properly.

— Verify that that the machine is properly secured.

* Know how to properly control your towing
vehicle/trailer combination on the highway under

all conditions. Remember that the loaded weight
of the trailer increases your braking and stopping
distances.

You are responsible for determining the towing
capacity of your vehicle.

Clean off the machines prior to loading them
onto the trailer. Keep the trailer clean of loose
debris that could fall off during transport, causing a
hazard.

Use proper loading and unloading procedures
and sequences. Read all manuals and follow the
instructions provided.

Inspect the trailer and machine often during
transport.

Safety and Instructional Decals

Safety decals and instructions are easily visible to the operator and are located near any area
of potential danger. Replace any decal that is damaged or missing.

any

<1492 LB
<676 KG

140-1123

decal140-1123

140-1123

1. Warning—read the Operator’s Manual; maximum weight
of 676 kg (1,492 Ib).

A WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov.

For more information, please visit www.ttcoCAProp65.com

decal133-8061

133-8061

© 2019—The Toro® Company
8111 Lyndale Avenue South
Bloomington, MN 55420

Register at www.Toro.com.

Original Instructions (EN)
Printed in the USA.
All Rights Reserved

* 3 4 32 - 587 % A



Setup

Loose Parts
Use the chart below to verify that all parts have been shipped.
Procedure Description Qty. Use

Trailer bed 1

1 Wheel 2 Install the wheels.
Lug nuts 10
Tongue 1

2 Bolt (5/8 x 3 inches) 2 Attach the tongue.
Nut (5/8 inch) 2
Mounting strap 2
Jack 1 o

3 Bolt 4 Install the trailer jack.
Locknut 4
Chain 1
Ramp 1
Bolt (1/2 x 1-1/2 inches) 2

4 Nut (1/2 inch) o Install the ramp.
Ramp strap 2
Cotter pin (1-1/4 inch) 2

5 No parts required - Test the wire harness.

1

Installing the Wheels

Parts needed for this procedure:

1 Trailer bed

2 Wheel
10 Lug nuts 5008362
Figure 1
Procedure 1. Lug nut 4. Hub
1. Using a hoist or mechanical jack, raise the trailer 2. Wheel 5. Posts
bed. 3. Valve stem
2. Install the wheels onto the hub with the valve
stem facing out to allow access (Figure 1). 3. Secure each wheel to the hub using 5 lug nuts.

Torque the nuts to 68-102 N-m (50-75 ft-Ib).

4. While the bed is still raised, remove the fasteners
securing the packing stands to the trailer bed.

5. Lower the bed to the ground and verify the cold
pressure of the wheels is at a maximum of 551
kPa (80 psi).




2

Attaching the Tongue

Parts needed for this procedure:

1

Tongue

2 Bolt (5/8 x 3 inches)

2 Nut (5/8 inch)

Procedure
1.

Lay the tongue out in front of the trailer and
locate a flexible wire longer than the tongue.

2. Feed the wire through the length of the tongue
so a portion of the wire is visible at both ends
(Figure 2).

4 |
3
6008363 m
Figure 2

1. Tongue 4. Tongue (trailer side)

2. Opening 5. Harness (from trailer)

3. Wire

3. Remove the fastener securing the hitch wiring
bundled to the trailer bed.

4. Secure the wire in the tongue to the wiring

harness on the trailer and pull the wiring harness
through the length of the tongue using the wire
(Figure 3). Remove the wire from the harness.

1.
2. Opening

3 G008364

9008364

Figure 3

Tongue 3. Wire harness

4. Wire (secured to harness)

1.

Using a jack or hoist, raise the front end of the
trailer bed to allow the installation of the tongue
(Figure 4).

%o

G008365
9008365

Figure 4

Jack 2. Trailer

Move the tongue into position under the trailer
bed and raise it to align the rear holes in the
trailer bed with the rear holes in tongue.

With the help of another person, install a bolt
(5/8 x 3 inches) through the holes. Raise the
front end of the tongue to align the front holes
and use a bolt (5/8 x 3 inches) to hold the tongue
in place (Figure 5).



3

- Installing the Trailer Jack
= (Model 22979)

C

e
\ Parts needed for this procedure:
G008366

008366 2 Mounting strap
Figure 5 1 Jack
1. Trailer (underside) 4. Wire harness 4 Bolt
2. Tongue 5. Bolt (5/8 x 3 inches) 4 Locknut
3. Bolt holes
8. At the front end of the tongue, pull the wire Procedure
harness forward to remove all slack in the 1.

Place the jack against the tongue (Figure 7).
harness before continuing the installation. J g g » (Fig )

Important: Ensure that the wire harness is
not being pinched or impinged during the
installation. Damaged wires can cause the
tail lights to malfunction.

9. Secure the bolts with 2 nuts (5/8 inch) (Figure 6).
Torque the nuts to 103-135 N-m (76-100 ft-Ib).

3
/ - g022032
9022032
Figure 7
008367 s008367 1. Locknuts (4) 3. Bolts (4)
Figure 6 2. Mounting straps

1. Trailer and tongue 3. Nut (5/8 inch)

2. Bolt (5/8 x 3 inches) 2. Position the 2 mounting straps on the other side
of the tongue (Figure 7).

10. Lower the front end of the trailer. 3. Secure the jack and the 2 mounting straps to the

tongue using 4 bolts and 4 locknuts (Figure 7).
4. Torque the locknuts to 33.9 N-m (25 ft-Ib).




4

Installing the Ramp

Parts needed for this procedure:

1 Chain

Ramp

Bolt (1/2 x 1-1/2 inches)

Ramp strap

1
2
2 | Nut (1/2 inch)
2
2

Cotter pin (1-1/4 inch)

Procedure

1.

Install the retaining chain from the bed of the
trailer to the retaining pin (Figure 8).

1
G008368
9008368
Figure 8
1. Trailer bed 4. Retaining pin
2. Loop 5. Keeper (attached)
3. Chain
2. With the help of another person, place the ramp

into position at the end of the trailer bed. Use a
bolt (1/2 x 1-1/2 inches) and a nut (1/2 inch) at
each hinge to attach the ramp to the trailer bed
(Figure 9).

piap \"‘2‘1\ AR u/\/

g

A -}-'H'p'\"l\’/
I

I\‘l’f‘\}: I
/ \
! “\5,'{\ \qJ
m\

{
, \II ;\
{{l’ "/“\l I‘I\‘\HI IH,I{II\ “)\’\1 IRy

Figure 9

,/ I‘u'\]]\“ o

9008369
Trailer bed 4. Nut (1/2 inch)
Ramp 5. 0.16 cm (1/16 inch) gap
Bolt (1/2 x 1-1/2 inches)

Tighten the bolt until there is approximately a
0.16 cm (1/16 inch) gap between the bed and
ramp hinges. This allows the ramp to move
freely while securely fastened to the trailer.

Important: Do not over tighten the ramp
pivot bolts or binding will occur, causing
damage to the trailer.

Install a ramp strap to each side of the trailer as
shown in Figure 10. Install a cotter pin and bend
back the ends to secure the straps to the trailer.



A =
4 I \\/l\ \6008371 /

9008371

Figure 10
1. Lynch pin 4. Ramp
2. Post on ramp 5. Post on bed
3. Ramp strap 6. Cotter pin
5. Raise the ramp and use the straps and lynch

pins to secure it in the transport position (Figure
10).

S

Testing the Wire Harness

No Parts Required

Procedure

1.

Locate the white ground wire on the wiring
harness and ground bolt on the front of the
tongue. Secure the ground wire to the tongue at
the ground bolt. Do not overtighten the bolt.

Plug the flat connector to a suitable vehicle for
testing. Check to make sure the brake lights
illuminate properly with the brake pedal applied
and the taillights flash when the turning signals
are use.

Disconnect the wire connector and bundle it to
the trailer. Store the flat connector to the holster
on the tongue (Figure 11).

9008372

Figure 11

1. Tongue 3. Wiring harness
2. Holster

Operation
Operating the Jack

Turn the crank clockwise to lower the jack (Figure 12).

g022033
9022033

Figure 12

Turn the crank counter clockwise to raise the jack
(Figure 13).




9022034

Figure 13

9022034

Pull out on the handle to rotate the jack (Figure 14).

1.

Handle

N

Figure 14

9022111

9022111

Attaching the Trailer

This trailer uses couplers that require a 2 inch ball
for the hitch.

1.

Rotate the jack into the vertical position (Figure
14).

Raise the trailer to above the ball hitch.

Lift the handle on the tongue.

Lower the tongue ball socket over the ball hitch
(Figure 15).

9008373

Figure 15

1. Tongue 4. Auxiliary chains

2. Ball socket 5. Locking pin (not included

with the trailer)

3. Handle, locked position

5. Close the handle, making sure it is securely
locked.

6. Install a pin (not included with the trailer) to lock
the handle.

7. Attach the chains to holes on the vehicle hitch.
Connect the wiring harness to the flat connector
on the hitch.

8. Raise the jack off of the ground and rotate the

jack into the horizontal position.



Loading the Trencher

A CAUTION

Attempting to load or unload the machine
from a trailer that is not securely hitched to
a suitable vehicle could cause the trailer to
become unstable, and tip causing injury to
you or bystanders.

Make sure the trailer is securely hitched to
a suitable vehicle parked on a level surface
before attempting to load or unload the
machine.

1. Remove the retaining straps and lower the ramp
to the ground.

2. Remove the tie down bar pin and slide the bars
apart (Figure 16).

Important: Allow the pin and chain to lay on
the center of the bed to avoid running over it
with the machine and damaging it.

G008374
9008374

Figure 16

1. Tie down bar 2. Retaining pin

3. Start the trencher according to the directions in
the Operator's Manual and run the engine at
low speed.

4. With the trencher arm raised in the transport
position drive the machine up the ramp onto the
trailer bed.

5. Take care to load the trencher with the tracks
between guide rails on the trailer bed (Figure
17).

6. Move the trencher forward slowly until the front
of the machine meets the forward stop on the
trailer bed.

G008375

9008375

Figure 17

1. Forward stop 2. Guide rails

7. Turn the machine off and engage the parking
brake.

8. Lower the trencher arm until it rests on the front
stop.

Note: Make sure the front cross tube of the
trencher is fully engaged to the front stop on
the trailer.

9. Slide the tie down bars together through the rear
tie down loops, aligning the holes to allow for
the retaining pin. Install the pin.

10. Raise the ramp and use the straps and lynch
pins to secure it in the transport position.

Unloading the Trencher

A CAUTION

Attempting to load or unload the machine
from a trailer that is not securely hitched to
a suitable vehicle could cause the trailer to
become unstable, and tip causing injury to
you or bystanders.

Make sure the trailer is securely hitched to
a suitable vehicle parked on a level surface
before attempting to load or unload the
machine.

1. Remove lynchpins securing the ramp straps.
Remove the straps and slowly lower the ramp
to the ground.




A DANGER

The ramp in the transport position
represents a stored energy hazard and
if not secured can fall; injuring you or
bystanders.

Hold the ramp in place when removing
straps and use care to lower the ramp
carefully to the ground.

Remove the pin on the hold down bar and lay
the chain and pin on the center of the trailer bed.
Slide the hold down bars apart.

Start the machine according to the Operator's
Manual and disengage the parking brake.

Raise the trencher arm into the transport
position.

Slowly, while looking behind you and down,
move the machine down and off the ramp.

Removing the Trailer Hitch

1.
2.
3.

8.

9

Park the machine and trailer on a level surface.
Rotate the jack into the vertical position.

Disconnect the wiring harness from the electrical
connector on the hitch. Place the connector into
the holster on the tongue.

Remove the chains retaining the tongue to the
hitch.

Remove the pin and lift the handle on top of the
hitch.

With the tongue handle raised CHECK.

Raise the tongue above the hitch and lower the
handle

Install a pin (not included) to lock the handle.

Chock the trailer wheels.

Maintenance
Checking Lug Nuts

Service Interval: After the first 10 hours/Monthly

(whichever comes first)

Torque the nuts to 68-102 N-m (50-75 ft-Ib).




Notes:



Notes:



TORO.

Countonit.






